00000000 (7)

[1] 00000000 H = H(xy,4,---,zy)000000000000000 «; (j=1,2,---,N) O
0000000000000000000z;] »0o0000000 H—-o0o000000000

<xjg£§>::kzn 1)

000 (---)00000000000 Ce ¥ (cO0DO0O00O0 g=1/kT)000000

(Ay=cC ( s > Ae=PH (2)

() DO0D0O0O0DO0OO0O0ODOOOO

oooo

N oo
DDDDDDDDDC(H/ dxk>e—5H:1DDDD:chDDDDDDDDDDDD
k=1Y7"°°

(b) 0000000000000000 H=AH(z,p)O

2

p 1 9
H=K K=— = -
+V, o \% 2/%, (3)
O000000()00000000O0O000000
1
(K) = (V) = 5KT. (4

[2l 00000000 NOOODOOOOOOOOOO ADDODO LOOODOOODOOOOOOOOO
ooboTrTobogboobgobDo

(a) OO0 ZOOOOOUOOO EOOOOOO CcyOOOOOO

(b 000000000 0000000000 n(;)000000O00O00COCOOOOOODOOP
000000000

(c) £ 0000 -0 00000 CyOPOOODOD

[8] O0U0OOOUOOOO NODOUOOOOUOOOODOOVOOOODODOOUOOOOODOTOOO
0000000000000 000000 000000000 p=|p|00000e=cp000
ubobooboo ec0booboon

(a) 0000 ZOOOOO
(b) 0000000 FOOOOOOOOUODOOO0O00000Cy00000000



